Study Sheet chapter8
Name ____________________
· Know root terms and vocabulary!!!!!!

1. In a certain plant, the gene R represents round seeds and the gene r represents wrinkled seeds.  A Round seeded plant, RR, is crossed with a wrinkle seeded plant rr.  The offspring of this first cross, Round Rr, are then crossed with one another to produce a second generation.  The offspring expected from this second cross are calculated by setting up a chart. (Show your work!!!!!)

What is the branch of biology that studies how these plant characteristics are inherited?

The chart used above is called a(n)  ?  .
The offspring produced from the first cross belong to the _________ generation.

The offspring produced form the second cross belong to the _________ generation.

The single letters along the top and side of the chart represent the types of ______________ produced by each parent.

Only one letter is written along each box in the chart because genes _________ during gamete formation.

The fact that all offspring produced from the first cross have green seeds can be explained by the law of __________.

Which of these plant traits is recessive?

Expressions such a  RR, Rr, or rr represent a plant's __________.

Descriptions such as "round" or "wrinkled" represent a plant's ______.

A plant that is RR is said to be ______ for that trait.

Which genotype(s) for seed shape in this plant is (are) heterozygous.

Write the phenotypic ratio of offspring produced from the first cross.

Write the genotypic ratio of offspring produced form the second cross.

Write the phenotypic ratio of off spring produced from the second cross.

Write the genotype(s) of wrinkle-seeded offspring produced from the second cross.

The possible types of gametes produced from an organism with the genotype SsTt are _______________.
2. In fruit flies, the gene for broad wings, B, is dominant to the gene for narrow wings, b.  (Show your work!!!!!)

If two flies, when bred, produced 98 Broad winged and 102 narrow winged offspring, what were the most probable parental genotypes?

What were the phenotypes of the parents.

What was the genotype of the broad winged offspring.

What was the genotype of the narrow winged offspring.

If two different flies, when bred, produced 152 broad winged and 49 narrow winged offspring, what were the most probable parental genotype?

3. In fruit flies, the gene for brown body color, B, is dominant to the gene for yellow body color, b.  the gene for long wings, L, is dominant to the gene for short wings, l.  A brown, short winged male is bred to a yellow, long winged female.  Of the offspring produced, half are brown, long winged and half are yellow, long winged. (Show your work!!!!!)

What is the most probable genotype of the male parent?

What is the most probable genotype of the female parent?

4. Blood types are inherited as follows  The gene for type A blood, IA , is dominant to the gene for type O blood, Io .   Type  B blood, IB show incomplete dominance with type A and is dominant to O.  (Show your work!!!!!)

What genotype(s) could a person with type A blood have?

What is (are) the possible genotype(s) of a person with type B blood?

What is (are) the possible genotype(s) of a person with type O blood?

What is the genotypic ratio expected among offspring produced by parents having genotypes IA IA and IBIo?

What would the probable phenotypic ratio from parents having the genotypes IB Io  and IoIo.

What blood types could two people with type O blood produce produce?

5. In humans, the gene for dimples, D, is dominant to the gene for no dimples, d.  A dimpled man, whose mother did not have dimples and whose father had dimples, and a non dimpled woman, both of whose parents had dimples, marry. (Show your work!!!!!)

What is the woman's genotype?

What is the man's genotype?

What is the genotype of the man's mother?

What is the genotype of the woman's parents?

If the man and woman have four children, how many would be expected to be heterozygous for dimples.

How many of the children would be expected to have no dimples?

How many of the children would be expected to have dimples?

6. On ears of corn, each kernel can be considered as an offspring.  The kernels on four ears were counted for the color trait, purple or white, and the sweetness trait, starchy of sweet.  The countings gave these phenotypic ratios for the four ears (Show your work!!!!!)



Ear 1
3 purple: 1 white



Ear 2
3 starchy: 1 sweet



Ear 3
9 purple, starchy: 3 purple, sweet: 3 white, starchy: 





1 white, sweet



Ear 4
1purple: 1 white
Which traits are recessive?

Which traits are dominant?

What must have been the parental genotypes that produced ear 1?

What must have been the parental genotypes that produced ear 2?

What must have been the parental genotypes that produced ear 3?

What must have been the parental genotypes that produced ear 4?

7. In a certain plant, long pods, L, are dominant to short pods, l.  A plant with short  pods is crossed with a plant that is heterozygous for long pods. (Show your work!!!!!)

What is the expected genotypic ratio among the offspring?

What is the expected phenotypic ratio among the offspring?

(Show your work.)

8.  In cattle, the genes for red coat, R, and white coat, R', show incomplete dominance.  The heterozygous condition results in roan.  A rancher crosses a red bull with a roan cow.
(Show your work!!!!!)
What is the probable genotypic ratio?

What is the probable phenotypic ratio? (Show your work.)

8. 9.  In guinea pigs, the gene for black fur, B, is dominant to the gene for white fur, b.  The gene for rough coat, R, is dominant to the gene for smooth coat, r. (Show your work!!!!!)
If a homozygous black, heterozygous rough pig is bred to a white, smooth pig, what is the expected genotypic ratio of the offspring?

What is the expected phenotypic ratio of the offspring of the cross in the last question ?

What is the phenotype of a BbRR parent?

The results of a different cross of guinea pigs are 19 black, rough: 6 black, smooth: 7 white, rough: 2 white, smooth.  What are the most 
probable genotypes of the parents?

What phenotypic ratio does the 19:6:7:2 most closely resemble?

In a cross between a white rough and a black smooth produced 8 black rough and 9 white rough, what is the genotype of the white rough parent?


What is the genotype of the black smooth parent?


What is the genotype of the black rough offspring?

10.  In humans, the gene for normal blood clotting, XN, is dominant to the gene for Hemophilia, Xn.  The trait is sex-linked.  A woman with normal blood clotting has   four children.  They are a normal son, a hemophiliac son, and two normal daughters.  The father has normal blood clotting.  What is the probable genotype of each member of the family? (Show your work!!!!!)

Essay:
11.  Who was Gregor Mendall, and how did his discoveries impact the field of genetics?

12.  Explain how the X and the Y sex chromosomes determine the sex in humans.

